MuKpi with a Cut on the variable “C” and New dEdx code (Jonathan’s modification to include D0bars too)

Jonathan proposed to cut on the variable C as Yuri defined it in the macro(C=charge[kg]+2*charge[ig]),with charge=1 if sign(track)<0, charge=0 by initialization. Therefore, C=0, 3 corresponds to the like sign combinations and c=1,2 corresponds to unlike sign combinations. 

In MuKpi I used the cut 

If(c==0||c==3)continue;
as Jonathan did, but on real data Prod2 files on NFS Disk. The following is the plot obtained with such a cut:

Other cuts on this plot are: siliconHits>0,NTotPr<100,pT>0.3,|cos(theta*)|<0.6,|eta|<1.85,|nSigmaK|<2,|nSigmaPi|<2
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But without the cut on the variable C we obtained S/N ~3.3236 ( to see click here)

dEdx Modification:

MuKpi with victor’s correction is updated with the modified dEdx - the cut that accepts the D0bars as well. 

Data Sample: AuAu 2007Production2 sample on the NFS Disc.

old  dEdx cut 

if((TMath::Abs(pId[0][0])>2.0)) continue;

if((TMath::Abs(pId[1][1])>2.0))continue;

was modified to 

if (prod1<prod2)

{

KaonPiD = TMath::Abs(pId[0][0]) < 2.0;

PionPiD = TMath::Abs(pId[1][1]) < 2.0;

mySis =0;

}

else

{

KaonPiD = TMath::Abs(pId[0][1]) < 2.0;

PionPiD = TMath::Abs(pId[1][0]) < 2.0;

mySis =1;

}

KPiCand = KaonPiD && PionPiD;

if(!KPiCand) continue;

where prod1 is track[kg] (kaon)* track[ig] (pion) 

and prod2 is track[kg] (pion)* track[ig] (kaon)

A. With an nSigma cut 2.0 

B. With an nSigma cut 2.5
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Abs(dEdx00)<2&&abs(dEdx11)<2
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Abs(dEdx00)<2&&abs(dEdx11)<2&&abs(dEdx01)<2&&abs(dEdx10)<2
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C. Combining the cut on the C variable and modification of dEdx cut

1. SiliconHits>0,NTotPr<100,pT>0.3,|angle|<0.6,|eta_D0|<1.85
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2. SiliconHits>0,NTotPr<100,pT>0.3,|angle|<0.6,|eta_D0|<1.85&&decayXYT<0.5&&decayXYT>0.05
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D. With the default cut loosened to 2.5 and the cut on the variable C 

3. SiliconHits>0,NTotPr<100,pT>0.3,|angle|<0.6,|eta_D0|<1.85
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4. SiliconHits>0,NTotPr<100,pT>0.3,|angle|<0.6,|eta_D0|<1.85&&|nSigmaK-|<2,|nSigmaPi+|<2
[image: image9.png]ht
Entries. 8286
Mean 1673
RMS 0.2162
I ndf 1231173
logSignal .1.205 + 0.357

f

N IS I U T S DN DA |
015 e 17 18 19 2 21 22





5. SiliconHits>0,NTotPr<100,pT>0.3,|angle|<0.6,|eta_D0|<1.85&&|nSigmaK-|<2,|nSigmaPi+|<2&&|nSigmaK+|<2&&|nSigmaPi-|<2
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S/N ~ 3.0134
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